
https://www.leads4pass.com/ns0-194.html
2024 Latest leads4pass NS0-194 PDF and VCE dumps Download

 

 

 

NS0-194Q&As

NetApp Certified Support Engineer

Pass NetApp NS0-194 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/ns0-194.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

 

 

NS0-194 VCE Dumps | NS0-194 Practice Test | NS0-194 Study Guide                                1 / 3

https://www.leads4pass.com/ns0-194.html
https://www.leads4pass.com/ns0-194.html
https://www.leads4pass.com/ns0-194.html


https://www.leads4pass.com/ns0-194.html
2024 Latest leads4pass NS0-194 PDF and VCE dumps Download

QUESTION 1

You observe cyclic redundancy check (CRC) errors on a network port from a node in the cluster. 

Which two components would you consider reseating or replacing before you perform actions on the physical port
where the errors are reported from the node? (Choose two.) 

A. SFP 

B. cluster interconnect switch 

C. up-stream switch 

D. cable 

Correct Answer: CD Section: (none) 

 

QUESTION 2

You are working on a fabric MetroCluster. After a site failure, the plex starts to resync automatically to the aggregate
mirror of Aggr1. The plex now shows a status of resyncing. During this process, you experience a slow resync of the
SyncMirror plex. 

In this scenario, how do you solve the problem? 

A. Add more disks to the aggregate to add more I/O capacity. 

B. Destroy and re-create plex, then run a baseline sync. 

C. Tune the resync speed by adding a QoS policy and limit the concurrent I/O to the aggregate. 

D. Tune the resync speed using the storage raid-options command. 

Correct Answer: C Section: (none)

Reference: https://library.netapp.com/ecmdocs/ECMP1368831/html/GUID-F3E1536B-0C54-4D4F-
B9853D839032234D.html 

 

QUESTION 3

In ONTAP 9.6, activity on the command line is found in which log? 

A. audit.log 

B. messages.log 

C. command-history.log 

D. mgwd.log 

Correct Answer: A Section: (none) 
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Reference: https://kb.netapp.com/Advice_and_Troubleshooting/Data_Storage_Software/ONTAP_OS/ 

Overview_of_ONTAP_Logs 

 

QUESTION 4

You received the "CLUSTER ERROR: DISK/SHELF COUNT MISMATCH" AutoSupport message from an ONTAP
cluster. 

When analyzing this message, which two should be inspected? (Choose two.) 

A. drive paths 

B. IOM firmware 

C. drive firmware 

D. SAS cabling 

Correct Answer: AC Section: (none) 

 

QUESTION 5

A customer asks what is the correct way to configure an ONTAP system for multi-tenancy. The customer wants to serve
data and also protect data using SnapMirror from tenant A using network A and from tenant B using network B. 

In this scenario, which statement is correct? 

A. The customer must use different VLANs for the two tenants. 

B. This setup can only work if tenant A and tenant B use a shared network infrastructure. 

C. The customer must set up two different IPspaces for the two tenants. 

D. Each node can only communicate with tenant A or tenant B, but not with both at the same time. 

Correct Answer: B Section: (none) 
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